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1. Answers are to be written on separate Answer Sheet.

mÙkj fy[kus ds fy, vyx  
2. There are 90 questions in this test. All are compulsory.

bl iz'u ijh{kk esa 90 iz'u gSA lHkh vfuok;Z gSA
3. Answer to each question is to be indicated by blackening the serial number of the 

correct alternative with H.B. pencil. If (3) is the correct alternative then answer the 
questions as shown below.

izR;sd iz'u dk mÙkj nsus ds fy, ml iz'u ds uhps fn, x, fodYiksa esa lgh fodYi ds dzekad okyk 
o`Rr ,p- ch- iSfUly ls dkyk djsa tSls fd n'kkZ;k x;k gS] ;fn ¼3½ lgh fodYi gSA

4. For change of answer erase the earlier entry completely and then darken the new oval.

;fn vki viuk mÙkj cnyuk pkgrs gS rks igys Hkjs gq, xksys dks vPNh rjg feVk nsa fQj nwljs 
xksys dks vPNh rjg dkyk djsaA

5. There is no negative marking.

xyr mÙkj ds fy, dksbZ vad dkVs ugha tk,axsA
6. Use of calculators, log tables and mobile phones etc. is not allowed.

dsydqysVj] ykWx Vscy o eksckbZy Qksu dk iz;ksx fu"ks/k gSA
7. Two blank pages at the end of the question paper can be used for rough work. Rough 

work can also be done anywhere on the question-paper.

iz'u i= esas nks [kkyh iUuksa dk iz;ksx jQ dk;Z ds fy, fd;k tk ldrk gSA iz'u i= esa fdlh Hkh 
txg jQ dk;Z fd;k tk ldrk gSA

8. This question-paper along with answer-sheet is to be returned to the Centre 
Superintendent .

bl iz'u i= dks rFkk mÙkj i= dks dsUnz&v/kh{kd ds ikl lkSaiuk t:jh gSA
9. All particulars have to be written with a ball point pen or ink pen.

lHkh tkudkjh L;kgh iSu@ckWy iSu ls fy[ksaA
11. Since the time alloted is limited, if you do not know the answer to any question, pass on 

to the next. Come back to the left over question at the end.

D;ksafd le; lhfer gS] vr% ;fn fdlh iz'u dk mÙkj u vk, rks vxys iz'u ij pysaA NksMs x, 
iz'uksa ds mÙkj vki vUr esa dj ldrs gSA

mÙkj&i= gSaA 
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Q.1 In which part of the body the most of 

iron is present?

1) Blood

2) Bones

3) Muscles

4) Heart

Q.2 Which is the pea shaped endocrine 

gland that is situated in the bony cavity 

at the base of the brain?

1) Thyroid

2) Pituitary

3) Adrenal glands

4) Thymus

Q.3 How many ovaries and fallopian tubes 

are there in a female body? 

1) 2 ovaries and 2 fallopian tubes. 

2) 2 ovaries and 1 fallopian tubes. 

3) 2 ovaries and 4 fallopian tubes. 

4) 4 ovaries and 2 fallopian tubes. 

Q.4 Which of the following has the highest 

quantity of proteins? 

1) Cashewnut

2) Coconut

3) Almonds

4) Groundnuts

iz-1 vk;ju dh lokZf/kd ek=k 'kjhj ds dkSu ls 

Hkkx esa mifLFkr gSA

1½ jDr

2½ vfLFk;k¡ ¼gfM~M;k¡½

3½ ek¡lis'kh

4½ ân;

iz-2 dkSu lh eVj ds vkdkj dh xzfFk efLr"d ds 

ry esa vfLFk;ksa dh xqfgdk esa fLFkr gksrh gSaA

1½ Fkk;jkWbM

2½ fiV;wVjh

3½ ,fMªuy xzfFk;k¡

4½ Fkk;el

iz-3 L=h ds 'kjhj esa fdrus v.Mk'; ,oa 

Qsyksfi;u ufydk,¡ gksrh gS\

1½ 2 v.Mk'k; ,oa 2 Qsyksfi;u ufydk,¡

2½ 2 v.Mk'k; ,oa 1 Qsyksfi;u ufydk

3½ 2 v.Mk'k; ,oa 4 Qsyksfi;u ufydk,¡

4½ 4 v.Mk'k; ,oa 2 Qsyksfi;u ufydk,¡

iz-4 izkVhu dh lokZf/kd ek=k fuEu esa ls fdlesa 

ikbZ tkrh gSA 

1½ dktw

2½ ukfj;y

3½ cknke

4½ ew¡xQyh
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Q.5 Which of the followign causes 

Dengue Fever?

1) Virus

2) Bacteria

3) Fungus

4) Parasitic Worm

Q.6 Which of the following is the best 

source of iodine?

1) Sea food

2) Cereals and pulses

3) Fruits and vegetables

4) Milk and milk products

Q.7 HIV can be transmitted through which 

of the following routes?

1) Sharing needles used for injection 

drugs. 

2) Hugging a person living with HIV

3) Sitting next to a person with AIDS. 

4) Donating blood. 

Q.8 Which one of the following is a 

unicellular algae. 

1) Chlamydomonas

2) Rhizopus

3) Amoeba

4) Aspergillus

iz-5 fuEu esa ls fdlds dkj.k Msaxw Toj gksrk gS\

1½ ok;jl ¼fo"kk.kq½

2½ thok.kq

3½ dod

4½ ijthoh d`fe

iz-6 fuEu esa ls dkSu lk vkW;ksfMu dk lcls 

vPNk L=ksr gS\

1½ leqnzh Hkkstu

2½ vukt vkSj nkysa 

3½ Qy vkSj lfCt;k¡

4½ nw/k vkSj nw/k ds mRikn

iz-7 fuEufyf[kr esa ls fdl ek/;e ls ,M~l QSy 

ldrk gS\

1½ eknd&nzO;ksa ds bLrseky esa iz;qDr lqb;ksa 

dk vkil esa iz;ksx djus ls

2½ ,p-vkbZ-oh- xzLr O;fDr dks xys yxkus 

ls 

3½ ,M~l xzLr O;fDr ds lehi cSBus ls 

4½ jDr nku ls 

iz-8 fuEufyf[kr esa ls dkSu&lk ,d dksf'kfd; 

'kSoky gSa\

1½ DysekbMkseksul

2½ jkbtksil

3½ vehck

4½ ,lijfty~l
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Q.9 If you eat cut fruits/open food being 

sold on the roadside, you are likely to 

get infected with which of the 

following?

1) Hepatitis

2) Typhoid

3) Gastroenteritis

4) All of the above

Q.10 Yeast is used for the production of 

1) Sulphuric Acid

2) Oxygen

3) Alcohal

4) Sugar

Q.11 Which of the plant absorbs carbon 

dioxide during photosynthesis?

1) Root

2) Stem

3) Flower

4) Leaves

Q.12 The smallest bones of the body are 

present in which part of the body?

1) Ear

2) Arm

3) Leg

4) Chest

Q.13 22 Carrot gold is mixture of ?

1) Cu and Au

2) Zn and Au

3) Al and Au

4) Mg and Au

iz-9 vxj vki lMd ds fdukjs csps tkus okys dVs 

Qy ;k [kqyk Hkkstu [kkrs gSa rks vki fuEu esa ls 

dkSu ls jksx ls ladzfer gks ldrs gSa\

1½ gsisVkbfVl

2½ Vk;QkbM

3½ xSLVks&,UVªkbftl

4½ mijksDr lHkh

iz-10 ;hLV dk mi;ksx fuEu ds mRiknu esa gksrk gSA 

1½ lYQ;wfjd vEy

2½ vkWDlhtu

3½ ,Ydksgy

4½ phuh

iz-11 izdk'k la'ys"k.k ds nkSjku ikni fdl Hkkx }kjk 

dkcZu MkbvkWDlkbM izkIr djrs gSaA 

1½ tM+

2½ ruk

3½ iq"i

4½ ifÙk;k¡

iz-12 fuEu esa ls 'kjhj ds dkSu ls Hkkx esa lcls NksVh 

gfM~M;k¡ ikbZ tkrh gSa\

1½ dku

2½ cktw

3½ Vk¡x

4½ Nkrh

iz-13 22 dSjsV lksuk feJ.k gS\

1½ Cu vkSj Au

2½ Zn vkSj Au

3½ Al vkSj Au

4½ Mg vkSj Au
3



Q.14 Which of the following is also called 

methanoic acid?

1) Vinegar

2) Formic acid

3) Tannic acid

4) Tartaric acid

Q.15 During the formation of Magnesium 

oxide the number of electrons 

transferred from magnesium to oxygen 

is/are :

1) 1

2) 2

3) 3

4) 4

Q.16 In the following equation 

Fe O + xCO– yFe+zCO  x, y and z are:>2 3 2

1) 3,2,3

2) 2,2,3

3) 3,2,2

4) 2,3,2

Q.17 The fourth member of alkane is: 

1) Ethane

2) Butane

3) Propane

4) Pentane

Q.18 When the product of the reaction 

between H  and Cl  is dissolved in water, 2 2

it forms. 

1) Hydrochloric acid

2) Sulphuric acid

3) Nitric acid

4) Acetic acid

iz-14 fuEufyf[kr esa ls fdldks feFkkuks,d ,flM Hkh 
dgrs gS\
1½ fousxj
2½ QkWfeZd ,flM
3½ VSfud ,flM
4½ VkjVSfjd ,flM

iz-15 eSXuhf'k;e vkWDlkbM (MgO) dh jpuk esa 
eSXuhf'k;e vkWDlhtu dks fdrus bysDVªku 
miyC/k djkrk gS%
1½ 1
2½ 2
3½ 3
4½ 4

iz-16 fuEufyf[kr lehdj.k
Fe O + xCO– yFe+zCO  esa x, y vkSj z gSa:>2 3 2

1½ 3]2]3
2½ 2]2]3
3½ 3]2]2
4½ 2]3]2

iz- 17 vydsu dk pkSFkk lnL; gS%
1½ bFksu
2½ cqVsu
3½ izksisu
4½ iSuVsu

iz- 18 H  vkSj Cl  dh izfrfdz;k ls mRikfnr dEikÅaM 2 2

ikuh ds feJ.k esa dkSu lk rstkc cukrk gS\
1½ gkbZMªksDyksfjd ,flM
2½ lYQ;wfjd ,flM
3½ ukbZfVªd ,flM
4½ ,SflfVd ,flM
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Q.19 The composition of slaked limes is 

1) CaCO3

2) CaSO4

3) ZnCO3

4) Ca(OH)2

Q.20 The colour of lead iodide is 

1) Blue

2) Green

3) Yellow

4) Black

Q.21 The molecular mass of H SO  is 2 4

1)  49

2)  98

3)  89

4)  90

Q.22 The fermentation of sugar produces

1)  Methyl alcohol

2)  Ethyl alcohol

3)  Methane

4)  Chloroform

Q.23 Which of the following gases in its purest 

from has a slight blue colour. 

1) Hydrogen

2) Chlorine 

3) Ozone

4) Carbon monoxide

Q.24 The substance which will turn red litmus 

to blue is 

1) H SO      2) H PO2 4 3 4

3) KOH         4) HF 

iz-19 LysdM ykbZe dh dEiksft'ku gS
1) CaCO3

2) CaSO4

3) ZnCO3

4) Ca(OH)2

iz-20 ysM vk;ksMkbZM fdl jax esa ik;k tkrk gS\
1½ uhyk
2½ gjk
3½ ihyk
4½ dkyk

iz-21  H SO dk ekWfyD;wyj ekl gS2 4 

1)  49

2)  98

3)  89

4)  90

iz-22  phuh dh QjeuVs'ku djus ij D;k mRiUu gksrk 

gS\

1½ feFkkby~ ,ydksgy

2½ bFkkby ,ydksgy

3½ feFksu

4½ DyksjksQkseZ

iz-23 fuEufyf[kr esa ls dkSu lh xSl 'kq) voLFkk esa 

gYds uhys jax dh gksrh gSA 

1½ gkbSMªkstu

2½ Dyksjhu

3½ vkstksu

4½ dkcZu eksuksDlkbZM

iz- 24 dkSu lk inkFkZ yky fyV~el~ dks uhys esa ifjofrZr 

dj ldrk gS\
1) H SO      2) H PO2 4 3 4

3) KOH         4) HF 
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Q.25 When ice melts in a beaker of water, the 

level of water in the beaker will

1) increase

2) decrease

3) remains the same

4) first increase and then decrease

Q.26 Which metal is commonly used as an 

electronic magnet?

1) Copper

2) Iron

3) Nickle

4) Cobalt

Q.27 Metals are good conductors of electricity 

because

1) they contain free electrons

2) the atoms are lightly packed

3) they have high melting point

4) all of the above

Q.28 In diesel engine ignition takes place by

1) Compression

2) Electric spark

3) Dynamo

4) Battery

Q.29 Sound travels fastest through

1) Vacuum

2) Steel

3) Water

4) Air

iz-25 ikuh ls Hkjs chdj esa tc cQZ fi?kyrh gS rks 
ikuh dk Lrj
1½ c<+rk gS
2½ ?kVrk gS
3½ ogh jgrk gS
4½ igys c<+rk gS fQj ?kVrk gSA

iz-26 dkSu lh /kkrq lk/kkj.kr;k fo|qr pqEcd ds :i 
esa iz;ksx dh tkrh gSa\
1½ rkack
2½ yksgk
3½ fudy
4½ dksckYV

iz-27 /kkrq,a fo|qr dh lqpkyd gksrh gS D;ksafd&

1½ muesa LorU= bysDVªkWu gksrs gSaA 
2½ muesa ijek.kq nwj&nwj gksrs gSaA 
3½ mudk nzoukad vf/kd gksrk gSA 
4½ Åij fn, lHkhA 

iz-28 Mh-ty bZatu esa izTtoyu gksrk gS&
1½ ncko ls
2½ fo|qr fpaxkjh ls
3½ MkW;ueks ls 
4½ cSVjh ls

iz-29 /ouh lcls rst pyrh gS&
1½ fuokZr esa
2½ LVhy esa 
3½ ikuh esa
4½ ok;q esa
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Q.30 The source of solar energy is 

1) nuclear fission

2) nuclear fusion

3) sinking of the sun

4) none of these

Q.31 The 'Raman Effects' is used in the study 

of

1) X-rays

2) Cells

3) Choromosomes

4) Molecular energy

Q.32 The nucleus of an atom consists of 

1) proton + electron

2) only protons

3) protons + neutrons + electrons

4) protons + neutrons

Q.33 Unit of energy is same as that of 

1) Work

2) Power

3) Force

4) Acceleration

Q.34 The colour of the ocean appears to be 

blue because the sunlight falling on it is

1) Reflected

2) Refracted

3) Absorbed

4) Scattered

!Q.35 Water has maximum density at

01) room temperature   2) 0 c

0 03) 4 c                         4) 100 c

iz-30 lkSj ÅtkZ ds L=ksr gS&
1½ ukHkdh; fo?kVu
2½ ukHkdh; lay;u
3½ lw;Z dk Mwcuk
4½ buesa ls dksbZ ughaA

iz-31 jeu izHkko fdl v/;;u ds fy, iz;ksx fd;k 
tkrk gSA 
1½ {k&fdj.k
2½ tho dksf'kdk,a
3½ Øksekslkset+
4½ vk.kfod ÅtkZ

iz-32 ijek.kq dh ukfHkd esa fo|eku gksrs gS&
1½ izksVksu $ bySDVªku
2½ dsoy izksVksu
3½ izksVksu$U;wVªku$bySDVªku
4½ izksVksu$U;wVªkWu

iz-33 ÅtkZ dh bdkbZ ogh gS] tks bdkbZ gS& 
1½ dk;Z dh
2½ 'kfDr dh
3½ cy dh
4½ Roj.k dh

iz-34 leqnz dk jax uhyk izrhr gksrk gS D;ksafd lw;Z dh 
fdj.ksa tks bl ij iM+rh gSa&
1½ ijkofrZr gksrh gSa
2½ viofrZr gksrh gSa
3½ vo'kksf"kr gksrh gSa
4½ fc[kjrh gSa

iz-35  ikuh dk vf/kdre ?kuRo fdl rki ij gksrk gS
01½ lkekU; rkieku ij    2) 0 c

0 03) 4 c                         4) 100 c

7



Q.36 The best example of direct democracy in 

India is 

1) Gram Sabha

2) Gram Panchayat

3) Block Samiti

4) Zila Parishad

Q.37 The first citizen of India is 

1) Prime Minister

2) Union Finance Minister

3) Chief Justice of India

4) President of India

Q.38 Which of the following state has two 

Houses i.e. the legislative assembly and 

the legislative council? 

1)  Punjab

2) Tamil Nadu

3) Bihar

4) Assam

!Q.39 Planning commission was set up in India 

in:-

1) 1948

2) 1952

3) 1950

4) 1954

iz-36 Hkkjr esa izR;{k yksdrU= dk cf<+;k mnkgj.k gSA

1½ xzke lHkk

2½ xzke iapk;r

3½ CykWd lfefr

4½ ft+yk ifj"kn

iz-37 Hkkjr dk izFke ukxfjd gS%

1½ iz/kkuea=h

2½ dsfUnz; foÙk ea=h

3½ Hkkjr ds eq[; U;k;/kh'k

4½ Hkkjr ds jk"Vªifr

iz-38 fuEufyf[kr esa ls fdl jkT; esa nks lnu gSa tSls 

fd fo/kku lHkk vkSj fo/kku lHkk ifj"kn\

1½ iatkc

2½ rfeyukMw

3½ fcgkj

4½ vle

iz-39 Hkkjr esa ;kstuk vk;ksx dh LFkkiuk dh xbZ

1½ 1948

2½ 1952

3½ 1950

4½ 1954

SOCIAL SCIENCE
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Q.40 The cities more than 10 lakh population 

have:-

1) Municipal Board

2) Municipal Council

3) Municipal Committee

4) Municipal Corporation 

Q.41 The right to property was removed from 

the list of the fundamental rights in the 

year of:-

1) 1978

` 2) 1977

3) 1975

4) 1980

Q.42 Reservat ion of some seats in 

government  j obs ,  educa t iona l  

institutions etc. for SC/ST and women is 

called:-

1) Protective Discrimination

2) Discrimination

3) Favouritism

4) Restriction

Q.43 When was Constitution of India 

enforced?

1) 30th January, 1948

2) 26th November, 1949

3) 15th August, 1947

4) 26th January, 1950

iz-40 nl yk[k ls vf/kd tula[;k okys 'kgjksa esa gS%&

1½ uxj cksMZ

2½ uxj ifj"kn

3½ uxj ikfydk

4½ uxj fuxe

iz-41 ekSfyd vf/kdkjksa dh lwph ls lEifÙk dk 

vf/kdkj gVk;k x;k%&

1) 1978

` 2) 1977

3) 1975

4) 1980

iz-42 vuqlwfpr tkfr@vuqlwfpr tutkfr vkSj 

efgykvksa ds fy, ljdkjh ukSdfj;ksa] f'k{k.k 

laLFkkuksa bR;kfn esa vkj{k.k dks dgrs gSa%&

1½ lajf{kr HksnHkko

2½ HksnHkko

3½ i{kikr

4½ izfrcU/k

iz-43 Hkkjr dk lafo/kku dc ykxw fd;k x;k\

1½ 30 tuojh 1948

2½ 26 uoEcj 1949

3½ 15 vxLr 1947

4½ 26 tuojh 1950
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Q.44 What is G-20 ?

1) A group of rich developed countries

2) A group of poor developing countries

3) A group of petroleum exporting 

countries

4) A group of small African countries

Q.45 The common currency of European 

countries is called:

1) Dollar

2) Pound

3) Euro

4) Mark

Q.46 Which of the following is not a Chief 

organ of the U.N.O.?

1) Security Council

2) International Court of Justice

3) General Assembly

4) International Labour Organisation

Q. 47 What is our national slogan?

1) Satya-Mev-Jayate

2) Jai Bharat

3) Jai Jawan Jai Kisan

4) None of these

iz-44 th&20 D;k gSa\

1½ vehj fodflr ns'kksa dk ,d lewg

2½ xjhc fodkl'khy ns'kksa dk ,d lewg

3½ rsy fu;kZrd ns'kksa dk ,d lewg

4½ NksVs vfQzdh ns'kksa dk ,d lewg

iz-45 ;wjksih; ns'kksa dh lkekU; eqnzk dks dgrs gSa%

1½ MkWyj

2½ ikSaM

3½ ;wjks

4½ ekdZ

iz-46 fuEufyf[kr esa ls dkSu la;qDr jk"Vª la?k dk eq[; 

vax ugha gS\

1½ lqj{kk ifj"kn

2½ vUrjkZ"Vªh; U;k;ky;

3½ tujy ,slEcyh

4½ vUjkZ"Vªh; Je laxBu

iz-47 gekjk jk"Vªh; ukjk D;k gS\

1½ lR;eso t;rs

2½ t; Hkkjr

3½ t; toku t; fdlku

4½ buesa ls dksbZ ughsaA
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0Q.48 When the time is 12 noon at 0  longitude, 

0the time at 75 E longitude will be:-

1) 4 p.m

2) 3 p.m

3) 5 p.m

4) 11 p.m

Q.49 The maximum distance between the 

earth and the sun is on:_

1) 3rd January

2) 4th July

3) 5th June

4) 2nd November

Q.50 What is the present stage of the 

'Stromboli Volcano'?

1) Extinct

2) Dormant

3) Active

4) Dead

Q.51 Which one of the following is not a 

process of Chemical weathering?

1) Oxidation

2) Carbonation

3) Desilication

4) Gravity

Q. 52 Which of the following pair is not 

matched correctly?

1) Prairies  North America

2) Pampas Europe

3) Down Australia

4) Veld South Africa

0 0
iz-48 tc 0  ns'kkUrj ij nksigj ds 2 cts gksa rks 75  

iwoZ ns'kkUrj ij le; gksxk%
1½ 4 ih-,e
2½ 3 ih-,e
3½ 5 ih-,e
4½ 11 ih-,e

iz-49 i`Foh vkSj lw;Z ds chp vf/kdre nwjh gksrh gS%

1½ 3 tuojh
2½ 4 tqykbZ
3½ 5 twu
4½ 2 uoEcj

iz-50 LVªksEcksyh Tokykeq[kh dh orZeku fLFkfr dSlh gS\

1½ fuf"dz;
2½ f'kfFky
3½ lfdz;
4½ e`r

iz-51 fuEufyf[kr esa ls fdl izfØ;k }kjk jklk;fud 
vi{k; ugha gksrk\
1½ vkWDlhdj.k
2½ dkcksZus'ku
3½ flyhdk i`FkDdhdj.k
4½ xq:Ro

iz-52 fuEufyf[kr esa ls fdl tksMs dk lEcU/k lgh ugha 
gS%
1½ izs;jht mÙkjh vesfjdk 
2½ iEikl ;wjksi
3½ Mkmu vkLVªsfy;k
4½ osYM nf{k.k vfQzdk
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Q.53 The highest record temperature is about 

580C at Al-Aziziyah which lies in:-

1) Libya

2) Algeria

3) Niger

4) Sudan

Q.54 Which of the following is not a Kharif 

crop?

1) Rice

2) Maize

3) Jute

4) Mustard

Q.55 According to 2001 census, the lowest 

sex ratio is found in Haryana state in 

India i.e.

` 1) 877 females per thousand male

2) 852 females per thousand male

3) 861 females per thousand male

4) 821 females per thousand male

Q.56 In which state Kolar gold mines are 

located? 

1) Goa

2) Bihar

3) Chattisgarh

4) Karnatka

!Q.57 A map showing relief features such as 

mountains, plains, plateaus etc. is called

1) Political map

2) Physical map

3) Thematic map

4) Topographical map

0
iz-53 lcls Å¡pk rkieku yxHkx 58  lasVhxzsM vy 

vftft;kg esa ntZ fd;k x;k tks fLFkr gS%
1½ fyfc;k
2½ vythfj;k
3½ ukb+tj
4½ lqMku

iz-54 fuEufyf[kr esa ls dkSu lh [kjhQ dh Qly ugha 
gS\
1½ pkoy
2½ eDdk
3½ twV
4½ ljlksa

iz-55 2001 tux.kuk ds vuqlkj Hkkjr esa gfj;k.kk 
jkT; esa lcls de L=h iq:"k vuqikr ik;k tkrk 
gS tks fd%
1½ 877 fL+=;k¡ izfr gtkj iq:"k
2½ 852 fL+=;k¡ izfr gtkj iq:"k
3½ 861 fL+=;k¡ izfr gtkj iq:"k
4½ 821 fL+=;k¡ izfr gtkj iq:"k

iz-56 dksykj lksus dh [kkusa fdl jkT; esa ikbZ tkrh gSaA

1½ xksok
2½ fcgkj
3½ NÙkhlx<+
4½ dukZVdk

iz-57 ioZrksa] eSnkuksa] iBkjksa bR;kfn LFky Lo:iksa dks 
n'kkZus okys ekufp= dks dgrs gS%
1½ jktuhfrd ekufp=
2½ izkd`frd ekufp=
3½ fFkeSfVd ekufp=
4½ LFkykd`frd ekufp=
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Q.58 The Thar desert lies to the West of:-

1) Vindhya

2) Nilgiri

3) Arvalli

4) Satpura

Q.59 'Project Tiger' a nation wide compaign to 

protect tiger was launched in:-

1) 1973

2) 1965

3) 1977

4) 1982

Q.60 Alexander invaded India in

1) 326 B.C

2) 370 B.C

3) 426 B.C

4) 276 B.C

Q. 61 Who was known as Napolean of India?

1) Ghatotkacha

2) Chandragupta-II

3) Samudragupta

4) Chandragupta-I

!Q.62 Which Pallavas's king defeated 

Pulkeshin-II in three wars?

1) Mahendravarman

2) Narishbhavarman

3) Harshvardhan

4) Rajvardhan

iz-58 Fkkj e:LFky fdlds if'pe esa fLFkr gSa\
1½ foU/;k
2½ uhyfxjh
3½ vjkoyh
4½ lriqM+k

iz-59 ^izkstsDV Vkbxj* jk"Vª O;kih Vkbxj cpkvks 
vfHk;ku vkjEHk fd;k x;k%
1) 1973

2) 1965

3) 1977

4) 1982

iz-60 vySxtSaMj us Hkkjr esa vkØe.k fd;k%

1½ 326 bZ-iw-

2½ 370 bZ-iw-

3½ 426 bZ-iw-

4½ 276 bZ-iw-

iz-61 Hkkjr dk usiksfy;u fdls ekuk tkrk Fkk\

1½ ?kVksrdp

2½ pUnzxqIr f}rh;

3½ leqnzxqIr

4½ pUnzxqIr izFke

iz-62 iYyoksa dks fdl jktk us iqydsf'ku f}rh; dks 

rhu yM+kb;ksa esa gjk;k\

1½ egsUnzoeZu

2½ ujflaEHkkoeZu

3½ g"kZo/kZu

4½ jkto/kZu
13



Q.63 Where can we still see the impatc of 

Hindu culture in south-east Asia?

1) Bali

2) Cambodia

3) Java

4) Champa

Q.64 Who was able to conquer the Fort of 

Kangra?

1) Akbar

2) Sher Shah Suri

3) Babur

4) Jahangir

Q. 65 The second Battle of Panipat was fought 

between:-

1) Babar and Rana Sanga

2) Humanyun and Sher Shah Suri

3) Bairam Khan & Hemu

4) Sikander Suri and Humanyun

Q.66 Who among the following belonged to 

Bhakti movement in India?

1) Ramananda

2) Chaitanaya

3) Kabir

4) All of the above

iz-63 nf{k.kh&iwohZ ,f'k;k esa dgk¡ vc Hkh gesa fgUnw 

laLd`fr dk izHkko ns[kus dks feyrk gS\

1½ ckyh 

2½ dEcksfM;k

3½ tkok

4½ pEik

iz-64 dk¡xMk ds fdys ij fot; izkIr djus esa dkSu 

lQy gqvk Fkk\

1½ vdcj

2½ 'ksj 'kkg lwjh

3½ ckcj

4½ tgk¡xhj

iz-65 ikuhir dh yM+kbZ fdu ds chp esa yM+h xbZ Fkh\

1½ ckcj vkSj jk.kk lkaxk

2½ gqek¡;w vkSj 'ksj 'kkg lwjh

3½ cSje [kk¡ vkSj gsew

4½ fldUnj lwjh vkSj gqek¡;w

iz-66 fuEufyf[kr esa ls Hkkjr ds HkfDr vkUnksyu ls 

dkSu lEcfU/kr gS\

1½ jkekuUn

2½ pSrU;

3½ dchj

4½ ;s lHkh

14



Q.67 Who introduced the Doctrine of Lapse in 

India?

1) Lord Curzon

2) Lord Dalhousie

3) Lord Clive

4) Lord Irwin

Q.68 The Khilji-Dynasty was founded by:-

1) Jalal-ud-din-Khilji

2) Bullean

3) Ala-ud-din-Khilji

4) Malik Kafur

Q.69 The prosperity of China, Japan, Burma 

and India in the 13th century was 

advertised by the writings of:-

1) Leonardo

2) Dante

3) Marco Polo

4) Columbus

Q.70 The Jallianwala Bagh massacre took 

place at Amritsar in the year. 

1) 1919

2) 1920

3) 1921

4) 1922

iz-67 Hkkjr esa ysIl dh uhfr fdl us 'kq: dh\

1½ ykMZ d+tZu

2½ ykMZ MygkSt+h

3½ ykMZ Dykbo

4½ ykMZ bjfou

iz-68 f[ky~th oa'k dh LFkkiuk dh\

1½ tykymn~nhu f[ky~th

2½ cqysvu

3½ vykmn~nhu f[ky~th

4½ efyd diwj

iz-69 13oha 'krkCnh esa phu] tkiku] oekZ vksj Hkkjr 

dh lEiUurk dks foKkfir fdl ds ys[kksa }kjk 

fd;k x;k\

1½ fy;ksukMksZ

2½ nkUrs

3½ ekdksZ iksyks

4½ dksyEcl

iz-70 tfy;k¡ okyk ckx gR;kdkaM ve`rlj esa fdl o"kZ 

esa ?kfVr gqvk\

1½ 1919

2½ 1920

3½ 1921

4½ 1922

15



Q.71 Which of the following set of fractions is 

in descending order?

1)  

2)

3)

4)

Q.72  The value of                                     is 

equal to

1) 7 2) 1

3) 4) 0

Q.73 The smallest number which when 

divided by 5,6,7,8,9 leaves a remainder 

of 1 in each case. The number is.

1) 2521 2) 2520

3) 840 4) 360

Q. 74 If two numbers are respectively 20% 

and 50% of a third number, what % is the 

first number of the second one?

1) 10 2) 20

3) 30 4) 40

iz-71 fuEu esa ls dkSu lk fHkUu vojksgh Øe esa gS\

1½

2½

3½

4½

iz-72                  dk eku gS%

1½ 7 2½ 1

3½ 4½ 0

iz-73 og NksVh ls NksVh la[;k ftls 5]6]7]8]9 ls Hkkx 

nsus ij gj fLFkfr esa 1 'ks"k cprk gSA la[;k D;k 

gksxh\

1) 2521 2) 2520

3) 840 4) 360

iz-74 ;fn nks la[;k,a dze'k% rhljh la[;k dk 20% 

vkSj 50% gS rks igyh la[;k nwljh la[;k dk 

fdrus izfr'kr gksxh\

1) 10 2) 20

3) 30 4) 40
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Q.75 Which of the following is not a 

monomial?

1) 6x

2) 16xyz z̧

23) 3x +15

24) 18x 6̧x

2 2Q.76 If 6x=29 -23 , then the value of x is equal 

to

1) 25 2) 29

3) 52 4) 23

Q.77 A tradesman's charges are 20% over 

cost price. He allows his customers 10% 

off their bills for cash payment. His net 

gain  % is.

1) 12 2) 8

3) 10 4) 15

Q.78 A sum of money doubles itself in 8 years 

at simple interest. What is the rate of 

interest?

1) 2)

3) 4)

Q.79 The ratio between the age of Amar and 

Anjali at present is 2:3, three years 

hence the ratio of their ages will be 3:4. 

What is the present age of Amar in 

years?

1) 6 2) 9

3) 15 4) 18

iz-75 fuEu esa ls dkSu ,dinh ugha gSa\

1) 6x

2) 16xyz z̧
23) 3x +15

24) 18x 6̧x

2 2  iz-76 ;fn  6x=29 -23 rks x dk eku fdlds cjkcj 

gSA

1) 25 2) 29

3) 52 4) 23

iz-77 ,d O;kikjh Ø; ewY; ij 20% vf/kd olwyrk 

gSA og vius xzkgdksa dks udn Hkqxrku ij 10% 

dh NwV nsrk gSA mldk ykHk izfr'kr gSA 

1) 12 2) 8

3) 10 4) 15

iz-78 ,d jkf'k 8 o"kZ esa lk/kkj.k C;kt nj ij nqxquh 

gks tkrh gSA C;kt dh nj D;k gS\

1) 2)

3) 4)

iz-79 vej vkSj vatyh dh orZeku esa vk;q dk 

vuqikr 2%3 gSA rhu lky ckn mudh vk;q dk 

vuqikr 3%4 gksxkA vej dh orZeku vk;q o"kksZa 

esa D;k gS\

1) 6 2) 9

3) 15 4) 18
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Q.80 The average age of a class of 20 

students is 20 years. If the teacher's age 

is also included, the average age 

increases by one year. What is the 

teacher's age?

1) 21 years 2) 30 years

3) 41 years 4) 44 years

Q.81 What is the value of the expression 

given below?

1) .05 2) 1.05

3) .06 4) .09

Q.82 What is the least fraction which when 

added to or subtracted from          +

will make the result a whole number?

1) 2)

3) 4)

Q. 83 The volume of a right circular cylinder if 

the radius of its base is 3cm and its 

height is 10 cm. 

31) 90 p cm 2) 

3 33) 80 p cm 4) 110 p cm

3100 p cm

iz-80 ,d Dykl esa 20 cPpksa dh vkSlr vk;q 20 o"kZ 

gSA ;fn v/;kid dh vk;q Hkh blesa feyk nsa rks 

vkSlr vk;q ,d o"kZ c<+ tkrh gSA v/;kid dh 

vk;q D;k gS\

1½ 21 o"kZ 2½ 30 o"kZ

3½ 41 o"kZ 4½ 44 o"kZ

iz-81 fuEu dk eku D;k gksxk\

1) .05 2) 1.05

3) .06 4) .09

iz-82 og NksVs ls NksVk fHkUu crk,a ftls 

eas tek djus ;k ?kVkus ij iw.kZ la[;k izkIr gks%

1½ 2½

3½ 4½

iz-83 ,d csyu dk vk;ru Kkr djks ;fn blds 

vk/kkj dh f=T;k 3 ls-eh- vkSj ÅapkbZ 10 ls-

eh- gks
3 31) 90 p cm 2) 100 p cm

3 33) 80 p cm 4) 110 p cm

.03x.03x.03+.02x.02+.02

.03x.03-.03x.02+.02x.02

29
12

15
16

21
38

31
48

17
48

31
38

.03x.03x.03+.02x.02+.02

.03x.03-.03x.02+.02x.02

29
12

15
16

+
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Q.84 If a triangle of base 6 cm. has the same 

area as a circle of radius 6 cm., the 

altitude of the triangle in cm. is.

1) 6 p 2) 8 p

3) 10 p 4) 12 p

Q.85 A makes a cuboid of cardboard of sides 

5cm. How many such cuboids will he 

need to form a cube?

1) 15 2) 20

3) 25 4) 30

Q.86 The price of sugar is increased by 25%. 

By what percent a man should reduce 

his consumption of sugar so as not to 

increase his expenditure?

1) 25% 2)

3) 80% 4) 20%

Q.87 In the fig, ABCD and EFGH are 

Parallelograms. Find the value of x. 

0 01) 45 2) 50

0 03) 60 3) 90

iz-84 ;fn ,d 6 ls-eh- vk/kkj okyh f=Hkqt dk 

{ks=Qy 6 ls-eh- f=T;k okys o`Ùk ds cjkcj gks 

rks f=Hkqt dh ÅapkbZ ls-eh- esa D;k gksxh\

1) 6 p 2) 8 p

3) 10 p 4) 12 p

iz-85 , us 5 ls-eh- 2 ls-eh- Hkqtkvksa okyk ,d ?kukHk 

cuk;kA mls ,d ?ku cukus ds fy, ,sls fdrus 

?kukHkksa dh vko';drk gS\

1) 15 2) 20

3) 25 4) 30

iz-86 phuh dk ewY; 25% c<+ x;k gSA ,d O;fDr dks 

phuh dh [kir fdrus izfr'kr de dj nsuh 

pkfg, rkfd mldk [kpkZ u c<s+\

1) 25% 2)

3) 80% 4) 20%

iz-87 nh xbZ vkd`fr esa] ABCD rFkk EFGH 

lekukarj prqHkqZts gSA X dk eku Kkr djksA

0 01) 45 2) 50

0 03) 60 3) 90
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Q.88 The interior angle of a regular polygon is 

0156 . Find the number of sides of the 

polygon. 

1) 10

2) 12

3) 13

4) 15

Q.89 The angles of a quadrilateral are in the 

ratio 1:2:3:4 the largest angel is

1)  720

2) 1440

3) 360

4) 600

Q.90 The scale of a local map is 1 cm. to 5 km. 

An area is represented on this map by a 

rectangle of dimensions 5cm.x9cm. The 

2actual area in km  is.

1) 140

2) 225

3) 1125

4) 2025

0iz-88 ,d fu;fer cgqHkqt dk var dks.k 156  dk gSA 

cgqHkqt dh Hkqtkvksa dh la[;k D;k gksxh\

1½ 10

2½ 12

3½ 13

4½ 15

 iz-89 fdlh prqHkqtZ ds dks.k 1%2%3%4 ds vuqikr esa gSA 

lcls cMs+ dks.k dk eku D;k gSa\
01½ 72

0
2½ 144

03½ 36
04½ 60

 iz-90 ,d LFkkuh; uD'ks esa 5 fd-eh- dks 1 ls-eh- ds 

iSekus ls n'kkZ;k x;k gSA bl uD'ks esa fdlh LFkku 

dk {ks=Qy 5cm.x9cm. dh ,d vk;r }kjk 

n'kkZ;k x;k gSA LFkku dk okLrofd {ks=Qy fd-
2

eh-  esa D;k gksxk\

1½ 140

2½ 225

3½ 1125

4½ 2025
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